LALBABA COLLEGE
B.A Sem — 5 (General)
Internal Exam, 2022
Sub: Philosophy
Paper : DSE A (Set—1)
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Which is the Second noble truth?
a) There is suffering
b) It has a cause
c¢) It can be stopped
d) There is way to stop
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Which of the following is accepted by the trivar plaintiffs as absolute purusartha?
a) Dharma b) Artha ¢) Kama d) Moksa
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What is the last path of the eight fold path ?
a) Right speech
b) Right effort



¢) Right conduct
d) Right condentration
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There are Hedonistic calculus, according to Bentham
a) 7
b) 10
c) 2
d) 9
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Kant proposed the rule of -
a) Categorical Imperative b) Tabula rasa ¢) Freedom

d) Hedorism

)] nylo\l-d?". N o S eIt H17?

=) (I 3ITT o) ==k 1) T=&a7 =) TageT
Who is the propounder of Hedonistic calculus —
a) Bentham b) Locke
¢) Hume d) Mill
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“ eye for an eye, teeth for teeth” — In which theory it has been told?
a) Preventive theory
b) Retributive theory
¢) Reformative theory
d) None of these
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The ‘Nastica Shiromani’ is called -

a) Charvakas b) Bauddhas ¢) Jainas d) Naiyayikas
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How many types of actions are mentioned in the Gita?

a) 2 b) 3

c) 4 d) 5
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What is the action devoid of fruitfullness
a) Niskama Karma  b) Sakarna Karma

b) Prarabdha karma  d) Anaradha Karma




